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 	���������
" ���� ���
�� �� ���� ��� t → 0

�� �������	� ������� tβ, 0 < β < 1.

������� ����	� �������� ������ � 	���������
" 	��
�� 
���" �����������

��	�����#

�	
� ��
�� ����� � � �����
� � �	������� ������� ���
 ��� �	!� ������ 
 
��	��	�� ������ ��" �����������#� ����"��" � �	����� � $�	%���&�
��' "$ ( � ��)
��
$�� ( ���	�
 ���� �	�	
����&
*�" � ���* "$ �
	�	�	�� %��$��" tβ , 0 < β < 1.
+������ ������ � �����
� �� �
�� � �	!�� ������!	�� � ,�-� . ����$ �	� � ��)
�!	��"' $�� �	����� ( $�	%���&�
 �
��#� ����
� ( ��" ���� t ∈ [0, T ] � �����
�
� ���*��� �	!	�' � ��	�� � ,/-� ��" $�!��� ������ � ����	�� ���� ��������" 
�
&� ���
� ����0"�$�� 1�	��	�� ������ � � ���!	��"� ��" ����"�* 	���
 ���#� 
� #�)
�	��������#� 
 ��� � �����
� �� �
�� � �	!�� � ���� � ,2' 3-' � ��	��	�� ������
� ���*��� �	!	� ��" �����������#� ����"��" �	� � ���!	��" ) � ,�-�

�� 
����������� ������� . �����
� ΩT = {(x, t) : 0 < x < h(t), 0 < t < T }
� �	������� �	!	� x = h(t) ���#�"��&�� ��	��	�� ������ � ����	��" $�	%���&�
�
a(t) > 0, t ∈ (0, T ] � ����"���

ut = a(t)uxx + b(x, t)ux + c(x, t)u + f(x, t), (x, t) ∈ ΩT , 4�5

� ����
$���� ������

u(x, 0) = ϕ(x), 0 � x � h(0), 4/5

�© ������� �	
 ���
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$��(�� � ������ 

u(0, t) = µ1(t), u(h(t), t) = µ2(t), 0 � t � T 425


� ������ �	�	� ����	��"

a(t)ux(0, t) = µ3(t), 0 � t � T, 435

h(t)∫
0

u(x, t)dx = µ4(t), 0 � t � T. 4�5

.���"� ���� ������ y =
x

h(t)
, t = t, ��	�	�� ������ 4�5)4�5 �� ��	��	��� �
������

�	����� � (a(t), h(t), v(y, t)), �	 v(y, t) = u(yh(t), t), � �����
� �� �
�� � �	!�� 
QT =
= {(y, t) : 0 < y < 1, 0 < t < T } :

vt =
a(t)
h2(t)

vyy +
b(yh(t), t) + yh′(t)

h(t)
vy + c(yh(t), t)v + f(yh(t), t), (y, t) ∈ QT , 465

v(y, 0) = ϕ(yh(0)), 0 � y � 1, 4�5

v(0, t) = µ1(t), v(1, t) = µ2(t), 0 � t � T, 475

a(t)
h(t)

vy(0, t) = µ3(t), 0 � t � T, 4�5

h(t)

1∫
0

v(y, t)dy = µ4(t), 0 � t � T. 4�85

��������� �� ./012�03/� 0�4�5� 6�7
68�7 9�01��/ ���:3; <;93=�: (a(t), h(t), v(y, t))
∈ C[0, T ] × C1[0, T ] × C2,1(QT ) ∩ C1,0(QT ), 4� a(t) > 0, t ∈ (0, T ], �>9;? >3�95�99�
@��9�=� lim

t→+0
a(t)t−β > 0, 0 < β < 1, h(t) > 0, t ∈ [0, T ]A B/ 0�4/1/CD9�? ;�/1�

6�7
68�7�

�� 	�������� ��������� ������ �� !��" �

#������ �� E���;>���/A B/ 1�3/9;F�D>� ;�/1�G
A1) ϕ ∈ C[0,∞), ϕ(x) � ϕ0 > 0, x ∈ [0,∞), µi ∈ C1[0, T ], µi(t) > 0,

t ∈ [0, T ], i = 1, 2, 4, b, c, f ∈ C([0,∞) × [0, T ]), f(x, t) � 0, (x, t) ∈ [0,∞)×
×[0, T ], µ3 ∈ C[0, T ], µ3(t) > 0, t ∈ (0, T ], ∃ lim

t→+0
µ3(t)t−β = M > 0;
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A2) ϕ ∈ C1[0, h0], ϕ′(x) > 0, x ∈ [0, h0], b ∈ C1,0([0, H1] × [0, T ]),
f, c ∈ Hα,0([0, H1] × [0, T ]), α ∈ (0, 1),

4� h0 = h(0) " �/012�0/3 ��19�99�
h0∫
0

ϕ(x)dx = µ4(0),

H1 = C1 max
[0,T ]

µ4(t)
(

min{min
[0,h0]

ϕ(x), min
[0,T ]

µ1(t), min
[0,T ]

µ2(t)}
)−1

, C1 = const > 0;

A3) ϕ(0) = µ1(0), ϕ(h0) = µ2(0).
�/4� �/H9� 0�09�5��� ��3� 5�>C/ T0 : 0 < T0 � T A �3� 1�09�5�?�D>� 1���49���
4�9���A B/ �/012�0/3 0�4�5� 6�7
68�7 �>9;? ��� 0 � y � 1, 0 � t � T0.

���������� 9#���� � ������ 4:�5 
	��	� 
� ������ 4/5' 4�5' ����& &� �	 ����	��"
h(0) = h0 > 0, "$	 �������*�"& ����"��"

h0∫
0

ϕ(x)dx = µ4(0).

. $�� �
����� �� �� � ��$� ���� ,6' ��/�- ��" ����0"�$� ������ 465)475' �
� )
��&��

v(y, t) � C1 min{min
[0,h0]

ϕ(x), min
[0,T ]

µ1(t), min
[0,T ]

µ2(t)} ≡ M0 > 0, (y, t) ∈ QT ,

����$ � ���������"� 4�85 ��
 �	��

h(t) �
max
[0,T ]

µ4(t)

M0
≡ H1 < ∞, t ∈ [0, T ].

1��� �� %��$��� v(y, t) ��	���� ��" �*�#� ����� � $�� �
�&�� �� �� � ��$� ����

v(y, t) � C2 max{max
[0,h0]

ϕ(x), max
[0,T ]

µ1(t), max
[0,T ]

µ2(t), max
[0,H1]×[0,T ]

f(x, t)} ≡

≡ M1 < ∞, (y, t) ∈ QT

� �#���� � 4�85 ��&��

h(t) �
max
[0,T ]

µ4(t)

M1
≡ H0 > 0, t ∈ [0, T ].

1
�!'

0 < M0 � v(y, t) � M1 < ∞, (y, t) ∈ QT , 4��5

0 < H0 � h(t) � H1 < ∞, t ∈ [0, T ]. 4�/5
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+����� �� ω(y, t) = vy(y, t), p(t) = h′(t). +�"�� ������ 465)475 � � ���$� ��)
���*� � �	�	�	��� � �� [0, T ] %��$��( a(t), h(t), p(t) 	$�����	�
�� 
�$�( � �
	�� ��)

	#���*� � ����"�*;

v(y, t) = v0(y, t) +

t∫
0

1∫
0

G1(y, t, η, τ)
(

b(ηh(τ), τ) + ηp(τ)
h(τ)

ω(η, τ) +

+c(ηh(τ), τ)v(η, τ)
)

dηdτ, (y, t) ∈ QT , 4�25

ω(y, t) = v0y(y, t) +

t∫
0

1∫
0

G1y(y, t, η, τ)
(

b(ηh(τ), τ) + ηp(τ)
h(τ)

ω(η, τ) +

+c(ηh(τ), τ)v(η, τ)
)

dηdτ, (y, t) ∈ QT , 4�35

�	

v0(y, t) =

1∫
0

G1(y, t, η, 0)ϕ(ηh0)dη +

t∫
0

G1η(y, t, 0, τ)
a(τ)
h2(τ)

µ1(τ) dτ −

−
t∫

0

G1η(y, t, 1, τ)
a(τ)
h2(τ)

µ2(τ)dτ +

t∫
0

1∫
0

G1(y, t, η, τ) f(ηh(τ), τ)dηdτ,4��5

v0y(y, t) = h0

1∫
0

G2(y, t, η, 0)ϕ′(ηh0)dη −
t∫

0

G2(y, t, 0, τ)µ′
1(τ) dτ +

+

t∫
0

G2(y, t, 1, τ)µ′
2(τ) dτ +

t∫
0

1∫
0

G1y(y, t, η, τ) f(ηh(τ), τ) dη dτ, 4�65

Gk(y, t, η, τ) =
1

2
√

π(θ(t) − θ(τ))

+∞∑
n=−∞

(
exp

(
− (y − η + 2n)2

4(θ(t) − θ(τ))

)
+

+(−1)k exp
(
− (y + η + 2n)2

4(θ(t) − θ(τ))

))
, θ(t) =

t∫
0

a(τ)
h2(τ)

dτ, k = 1, 2.

9��������' <� Gk(y, t, η, τ), k = 1, 2 � %��$��" =���� ���������� �	�
�� 
� ���#��
$��(���� ������ ��" ����"��"

vt =
a(t)
h2(t)

vyy.
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9 ���� 4�5 ������ ��

a(t)ω(0, t) = µ3(t)h(t), t ∈ [0, T ], 4��5

� � ���� 4�85

h(t) =
µ4(t)

1∫
0

v(y, t)dy

, t ∈ [0, T ]. 4�75

+��� %	�	����&�� ����� 4�85 �� ������ .�������� ���� 
	��	� ' � ��	�!����
������
� �
� ��&��

p(t) =
(

µ′
4(t) −

a(t)
h(t)

(ω(1, t) − ω(0, t)) + b(0, t)µ1(t) − b(h(t), t)µ2(t) +

1∫
0

by(yh(t), t) ×

×v(y, t)dy − h(t)

1∫
0

(c(yh(t), t)v(y, t) + f(yh(t), t))dy

)
µ−1

2 (t), t ∈ [0, T ]. 4��5

1
�!' ������ 465)4�85 ��	�	�� �� � �
	� ����"�* 4�25' 4�35' 4��5)4��5 � �	����)
� � (a(t), h(t), p(t), v(y, t), ω(y, t))� 9����� 465)4�85 
� �#����� � �
	�� 	$�����	�
��
� 
��� �	���; "$<� 
��($� %��$��( (a(t), h(t), v(y, t)) & ����0"�$�� ������ 465)4�85
� �	��� ���	�	��#� � <	 �����	��"' 
� (a(t), h(t), p(t), v(y, t), ω(y, t)) > �	�	�	��� (
����0"��$ � �
	� 4�25' 4�35' 4��5)4��5� +��� �*� � & � ��	��	�	 
�	��!	��"; "$<�
(a(t), h(t), p(t), v(y, t), ω(y, t)) > �	�	�	��� ( ����0"��$ � �
	� 4�25' 4�35' 4��5)4��5'

� %��$��� (a(t), h(t), v(y, t)) & ����0"�$�� ������ 465)4�85� ��" �*�#� ���
�
�*� ��)
�	�
 ' <� �� %��$��� ���	!�
* $���� C[0, T ]×C1[0, T ]×C2,1(QT )∩C1,0(QT ) � ����)
���*�"�
* ���� 465)4�85�

1
!	' �	��( (a(t), h(t), p(t), v(y, t), ω(y, t)) ∈ (C[0, T ])3 × (C(QT ))2 & ����0"�$��
� �
	� 4�25' 4�35' 4��5)4��5� +� ��<	��" 
	��	� ���
* ���#� ���� %	�	������
 
������
* 4�25 �� y� +���� ���
 � �
� ����� ������
� � ������
� 4�35 ���#��
*�"' 
���
ω(y, t) = vy(y, t). ?� ����
��� 4�25 ��� �� � �����$' <� v(y, t) ��& ��
����� #���$��
*'
�������*�"& ����"��"

vt =
a(t)
h2(t)

vyy +
b(yh(t), t) + yp(t)

h(t)
vy + c(yh(t), t)v + f(yh(t), t) 4/85

( ���� 4�5' 475 ��" �����*� � �	�	�	��� � �� [0, T ] %��$��( a(t), h(t), p(t)�
1�$��*$ v(y, t) ∈ C2,1(QT ) ∩ C1,0(QT ) � µ4(t) ∈ C1[0, T ], 
� h(t) ∈ C1[0, T ]. +��)

� %	�	����&�� ������
* 4�75 �� t' � $�� �
����� ����"��" 4/85� 1�	�! ��

p(t)
(

µ2(t) − µ4(t)
h(t)

)
= µ′

4(t) −
a(t)(vy(1, t) − vy(0, t))

h(t)
− b(h(t), t)µ2(t) + b(0, t)µ1(t)+

+

1∫
0

by(yh(t), t)v(y, t)dy − h(t)

1∫
0

(c(yh(t), t)v(y, t) + f(yh(t), t))dy − h′(t)µ4(t)
h(t)

.
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.�������� ��� ��
���*�� ������
� ������
* 4��5' �
� ��&��

µ4(t)
h(t)

(p(t) − h′(t)) = 0,

����$ ' ��������� ���� 
	��	� ' ��&�� h′(t) = p(t). . $�� �
����� �	 � ����"���
4/85' �� ��� �� �� ����"��" 465� ����� 4��5 	$�����	�
�� ����� 4�5' ����� 4�75 >
����� 4�85�

��" ���	�	��" ��������" ����0"�$� � �
	� ����"�* 4�25' 4�35' 4��5)4��5 ���
�)
��&�� 
	��	�� @���	�� ��� �	������ 
��$� ���$�� �	�	�	����#� ��	��
���� ��"
�*�#� �����
$� �0"��&�� �������� ����$ ����0"�$�� � �
	� �

A��#�"�	�� ����"��" 4�35� 1�$��*$ 
1∫
0

G2(y, t, η, 0)dη = 1, 
� �#���� � ������ 4:/5


	��	� ��
 �	�� ����
���
* �	�
�#� �����$� 4�65' ��� ��
� �����$ 4�35 
� 4�65
�� t → 0 ��"���
* �� ���"� 1
�!' ����& 
�$	 � ��� t1 : 0 < t1 � T, "$	 � �����&
*�"
�	������
�

h0

2

1∫
0

G2(y, t, η, 0)ϕ′(ηh0)dη �
t∫

0

G2(y, t, 0, τ)µ′
1(τ) dτ −

t∫
0

G2(y, t, 1, τ)µ′
2(τ) dτ−

−
t∫

0

1∫
0

G1y(y, t, η, τ) f(ηh(τ), τ) dη dτ−
t∫

0

1∫
0

G1y(y, t, η, τ)
(

b(ηh(τ), τ) + ηp(τ)
h(τ)

ω(η, τ)+

+c(ηh(τ), τ)v(η, τ)
)

dηdτ.

B��� � 4�35 �
� ��&�� ����$� ω(y, t) �� ��

ω(y, t) � 1
2

min
[0,1]

ϕ′(yh0) ≡ M2 > 0, t ∈ [0, t1]. 4/�5

9 4��5' ��������� 4�/5 
� ����� 4:�5 
	��	� ' ������ ��

a(t) � H1µ3(t)
M2

� A1t
β , A1 > 0, t ∈ [0, t1]. 4//5

+����� �� W (t) = max
y∈[0,1]

|ω(y, t)|. . $�� �
����� ����"��" 4��5' �
� ��&��

|p(t)| � C3 + C4a(t)W (t), t ∈ [0, T ]. 4/25

.�������� 4/25 
� ����$ %��$��� =����

G2(y, t, η, τ) � C5

(
1 +

1√
θ(t) − θ(τ)

)
,

1∫
0

|G1y(y, t, η, τ)|dη � C6√
θ(t) − θ(τ)

,
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� 4�35 
� 4�65' ��	�!�&��

W (t) � C7 + C8

t∫
0

dτ√
θ(t) − θ(τ)

+ C9

t∫
0

W (τ)√
θ(t) − θ(τ)

dτ + C10

t∫
0

a(τ)W 2(τ)√
θ(t) − θ(τ)

dτ. 4/35

.�������� �	������
*
1

a(t)
� W (t)

µ3(t)
,

��" �	�
�#� ��
	#���� ������ ���
 � �	������
� 4/35 �
� ��&��

t∫
0

dτ√
θ(t) − θ(τ)

�
t∫

0

a(τ)W (τ)dτ

µ3(τ)
√

θ(t) − θ(τ)
.

C����#����
t∫

0

W (τ)dτ√
θ(t) − θ(τ)

�
t∫

0

a(τ)W 2(τ)dτ

µ3(τ)
√

θ(t) − θ(τ)
.

+����� �� W1(t) = W (t) + 1. B��� �	������
* 4/35 ��!�� �	�	� ��
 � � #�"��

W1(t) � C11 + C12

t∫
0

a(τ)W 2
1 (τ)dτ

µ3(τ)
√

θ(t) − θ(τ)
. 4/�5

+���	�	�� �� ��� ���
 � �	������
� 4/�5 �� $�����
�' � $�� �
����� �	������
�
��
� 
� ��
�)D��"$���*$�#�

W 2
1 (t) � 2C2

11 + 2C2
12

t∫
0

W 4
1 (τ)dτ√

θ(t) − θ(τ)

t∫
0

a2(τ)dτ

µ2
3(τ)

√
θ(t) − θ(τ)

. 4/65

A��#�"�	�� ��
	#��� J1 =

t∫
0

a2(τ)dτ

µ2
3(τ)

√
θ(t) − θ(τ)

. .�������� 4//5 
� � #�"� %��$���

θ(t)' ������ ��

θ(t) � A1

H2
0 (1 + β)

t1+β

���

t � (θ(t))
1

1+β

(
H2

0 (1 + β)
A1

) 1
1+β

.

B���' � $�� �
����� ����� 4:�5 
	��	� � ����$� 4//5' ��	�!�&��

J1 � C13

t∫
0

a(τ)dτ

τβ
√

θ(t) − θ(τ)
�

t∫
0

a(τ)dτ

θ(τ)
β

1+β
√

θ(t) − θ(τ)
.
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+���" ����� ����� � z =
θ(τ)
θ(t)

�
� ��&��

J1 � C14(θ(t))
1−β

2(1+β)

1∫
0

dz

z
β

1+β
√

1 − z
� C15. 4/�5

.�������� 4/�5 � �	������
� 4/65' ������ ��

W 2
1 (t) � C16 + C17

t∫
0

W 4
1 (τ)dτ√

θ(t) − θ(τ)
.

. ��
����( �	������
� ���� �� t �� σ �' �����! �
 ��
a(σ)

µ3(σ)
√

θ(t) − θ(σ)
, �����)


	#��&�� �� �� σ ��� 0 �� t� . $�� �
����� 4/�5 
� ������
*

t∫
τ

a(σ)dσ√
(θ(t) − θ(σ))(θ(σ) − θ(τ))

= π,

� �
� ����� �	������
� ��
 �	��

t∫
0

a(σ)W 2
1 (σ)

µ3(σ)
√

θ(t) − θ(σ)
dσ � C18 + C19

t∫
0

W 4
1 (τ)
τβ

dτ.

+���
���"�� ��
���� �	������
* � 4/�5' ��	�!�&��

W1(t) � C20 + C21

t∫
0

W 4
1 (τ)
τβ

dτ.

+����� �� H(t) = C20 + C21

t∫
0

W 4
1 (τ)
τβ

dτ. B���

H ′(t) = C21
W 4

1 (t)
tβ

� C21
H4(t)

tβ
.

+����
	#�����
 ' � ��&� �	������
� ������ ��

H(t) � C20
3
√

(1 − β)
3
√

1 − β − 3C3
20C21t1−β

� M3, t ∈ [0, t2],

�	 � ��� t2 : 0 < t2 � T �������*�"& �����

1 − β − 3C3
20C21t

1−β
2 > 0.
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+��	�
��� �* �� ��	�	� � ������	�*' �
� ��&��

|ω(y, t)| � M3, t ∈ [0, t2], y ∈ [0, 1]. 4/75

1�
���" �	������
* ��& ���#� ���� 
 a(t) �� ��

a(t) � H0µ3(t)
M3

� A0t
β , A0 > 0, t ∈ [0, t2]. 4/�5

. $�� �
����� 4/75' 4/�5' � 4/25' ��	�!�&��

|p(t)| � M4, t ∈ [0, t2]. 4285

1
�!' ����$ ����0"�$�� � �
	� 4�25' 4�35' 4��5)4��5 �0"�������

���	�	�� ��������" #��� �� lim
t→+0

a(t)
tβ

> 0. 9 ���� 
	��	� � �� ��&' <�

lim
t→+0

vy(0, t) = lim
t→+0

h0

1∫
0

G2(0, t, η, 0)ϕ′(ηh0)dη = h0ϕ
′(0).

B���

lim
t→+0

a(t)
tβ

= lim
t→+0

µ3(t)h(t)
tβvy(0, t)

=
M

ϕ′(0)
> 0.

+����� � �
	�� 4�25' 4�35' 4��5)4��5 � � #�"�� ��	��
����#� ����"��" w =
Pw, �	 w = (a(t), h(t), p(t), v(y, t), ω(y, t))' � ��	��
�� E � �����&
*�" ���� )
� ���
 ��� ����"�* 4�25' 4�35' 4��5)4��5� F	�	� N ������ �� ���! �� N =

{(a(t), h(t), p(t), v(y, t), ω(y, t)) ∈ (C[0, T0])3 × (C(QT0
))2 : 0 < A0 � a(t)

tβ
� A1 <

∞, 0 < H0 � h(t) � H1 < ∞, |p(t)| � M4 < ∞, 0 < M0 � v(y, t) � M1 < ∞, |ω(y, t)| �
M3 < ∞}, �	 T0 = min{t1, t2}. . ����	�� ����$ ���
* ����� �
�	��!���
 ' <�
���! �� N ���$�� � ���$�	��' � ��	��
�� P �	�	��� 
* �� � �	�	� B	' <� ��	��
��
P ���$�� �	�	�	��� (' ����� 
*�" �����#���� "$ � ,�- � ,�-� B��� �#���� � 
	��	���
@���	�� ����& ����0"��$ � �
	� ����"�* 4�25' 4�35' 4��5)4��5' �' �
!	' � ����0"��$
������ 465)4�85 �� t ∈ [0, T0], y ∈ [0, 1].

$� %�&���'( ��������� ������ �� !��" �

#������ �� E���;>���/A B/ 1�3/9;F�D>� ;�/1�G
I87 b, c, f ∈ C1.0([0,∞) × [0, T ]), ϕ ∈ C2[0, h0], µi ∈ C1[0, T ], i = 1, 2;
��7 ϕ(x) � ϕ0 > 0, x ∈ [0,∞), µ4(t) > 0, t ∈ [0, T ];

IJ7 µ2(t) �= 0, t ∈ [0, T ],
µ3(t)
tβ

�= 0, t ∈ [0, T ].

�/4� �/012�0/3 0�4�5� 6�7
68�7 ?4�9�:�

���������� +� ���
 ��' <� ����& ��� ����0"�$ (ai(t), hi(t), vi(y, t)), i = 1, 2 ������
465)4�85� +����� ��

ri(t) =
ai(t)
h2

i (t)
, qi(t) =

h′
i(t)

hi(t)
, i = 1, 2, 42�5



;$ &���� '()&*+�

r(t) = r1(t) − r2(t), q(t) = q1(t) − q2(t), v(y, t) = v1(y, t) − v2(y, t). 42/5

9�����	�� ���� �� �������*�"�
* ����"��"

vt = r2(t)vyy +
(

b(yh2(t), t)
h2(t)

+ yq2(t)
)

vy + c(yh2(t), t)v + r(t)v1yy +

+
(

b(yh1(t), t) − b(yh2(t), t)
h1(t)

+ b(yh2(t), t)
(

1
h1(t)

− 1
h2(t)

)
+ yq(t)

)
v1y +

+(c(yh1(t), t) − c(yh2(t), t))v1 + f(yh1(t), t) − f(yh2(t), t), (y, t) ∈ QT 4225


� ���� 

v(y, 0) = 0, y ∈ [0, 1], v(0, t) = v(1, t) = 0, t ∈ [0, T ], 4235

r(t)v1y(0, t) + r2(t)vy(0, t) = µ3(t)
(

1
h1(t)

− 1
h2(t)

)
, t ∈ [0, T ], 42�5

1∫
0

v(y, t)dy = µ4(t)
(

1
h1(t)

− 1
h2(t)

)
, t ∈ [0, T ]. 4265

9� ������#�� %��$��� =���� G∗
1(y, t, η, τ) ��" ����"��"

vt =
a2(t)
h2

2(t)
vyy +

(
b(yh2(t), y)

h2(t)
+ yq2(t)

)
vy + c(yh2(t), t)v

����0"��$ ������ 4225' 4235 ������ � � #�"��

v(y, t) =

t∫
0

1∫
0

G∗
1(y, t, η, τ)

(
r(τ)v1ηη +

(
b(ηh1(τ), τ) − b(ηh2(τ), τ)

h1(τ)
+ b(ηh2(τ), τ) ×

×
(

1
h1(τ)

− 1
h2(τ)

)
+ ηq(τ)

)
v1η + (c(ηh1(τ), τ) − c(ηh2(τ), τ))v1 +

+f(ηh1(τ), τ) − f(ηh2(τ), τ)
)

dηdτ, (y, t) ∈ QT . 42�5

+����� �� ωi(y, t) = viy(y, t), i = 1, 2, ω(y, t) = vy(y, t). +��� %	�	�������
 42�5
�� y' �
� ��&��

ω(y, t) =

t∫
0

1∫
0

G∗
1y(y, t, η, τ)

(
r(τ)v1ηη +

(
b(ηh1(τ), τ) − b(ηh2(τ), τ)

h1(τ)
+ b(ηh2(τ), τ) ×

×
(

1
h1(τ)

− 1
h2(τ)

)
+ ηq(τ)

)
v1η + (c(ηh1(τ), τ) − c(ηh2(τ), τ))v1 +

+f(ηh1(τ), τ) − f(ηh2(τ), τ)
)

dηdτ, (y, t) ∈ QT . 4275
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9��(�	�� ����$� %��$��� v1yy(y, t). +����� �� �	�	� G
(1)
k (y, t, η, τ), k = 1, 2 %��$���

=���� ��" ����"��"

v1t =
a1(t)
h2

1(t)
v1yy

� $��(�� � ������ ���������� �	�
�#� 
� ���#�#� ����� B��� ����0"��$ v1(y, t)
������ 465)475 ������ � � #�"�� 4��5� . $�� �
����� ����
 ���
� %��$��� =����'
������ ��

v1yy(y, t) = h2
0

1∫
0

G
(1)
1 (y, t, η, 0)ϕ′′(ηh0)dη +

t∫
0

G
(1)
1η (y, t, 0, τ)

(
µ′

1(τ) − f(0, τ) −

−b(0, τ)
h1(τ)

ω1(0, τ) − c(0, τ)µ1(τ)
)

dτ −
t∫

0

G
(1)
1η (y, t, 1, τ)

(
µ′

2(τ) −

−f(h1(τ), τ) − b(h1(τ), τ) + p1(τ)
h1(τ)

ω1(1, τ) − c(h1(τ), τ)µ2(τ)
)

dτ −

−
t∫

0

1∫
0

G
(1)
1η (y, t, η, τ)

(
h1(τ)fη(ηh1(τ), τ) +

h1(τ)bη(ηh1(τ), τ) + p1(τ)
h1(τ)

×

×ω1(η, τ) + h1(τ)cη(ηh1(τ), τ)v1(η, τ) + c(ηh1(τ), τ)ω1(η, τ)
)

dηdτ −

−
t∫

0

1∫
0

G
(1)
1η (y, t, η, τ)

(
b(ηh1(τ), τ)

h1(τ)
+

ηp1(τ)
h1(τ)

)
v1ηη(η, τ)dηdτ =

4∑
i=1

Ii −

−
t∫

0

1∫
0

G
(1)
1η (y, t, η, τ)

b(ηh1(τ), τ) + ηp1(τ)
h1(τ)

v1ηη(η, τ)dηdτ, (y, t) ∈ QT .42�5

1��� �� $�!	� � �����$�� ��
	#���*��#� ����"��" 42�5� 1�$��*$ G
(1)
1 (y, t, η, 0) <

< G
(1)
2 (y, t, η, 0)' 
� ��" I1 �
� ��&��

|I1| � h2
0 max

y∈[0,1]
|ϕ′′(yh0)|

1∫
0

G
(1)
2 (y, t, η, 0)dη � C22.

1��� �� I2, � $�� �
����� � #�"� %��$��� G1η(y, t, η, τ)

|I2| � C23

t∫
0

|G(1)
1η (y, t, 0, τ)|dτ � C24t

− 3β+1
2

1∫
0

z−
2
3

+∞∑
n=−∞

|y +2n| exp
(
−C25(y + 2n)2

t1+βz

)
dz.

+���" ����� ����� � σ =

√
C25

t1+βz
(y + 2n), � $�� �
����� � #�"� ��
	#���� (��)



;% &���� '()&*+�

������
� 
� (�#� ����
 ���
�' �
� ��&��

|I2| � C26

tβ
.

C����#���� |I3| � C27

tβ
. ��" I4 ��� 
	��

|I4| � C28

t∫
0

1∫
0

|G(1)
1η (y, t, η, τ)|dηdτ � C29

t∫
0

dτ√
θ1(t) − θ1(τ)

� C30

t∫
0

dτ√
tβ+1 − τβ+1

�

� C31t
1−β

2 .

1
!	'

4∑
i=1

|Ii| � C32

tβ
. 4385

9 ����$ ��" I4 � �� ��&' <� "��� ��
	#���*��#� ����"��" 42�5 ��& ��
	#����� ����)
� ���
*� B���' ��������� 4385' �
� ��&�� 
�$� ����$� ��" %��$��� v1yy(y, t)

|v1yy(y, t)| � C33

tβ
. 43�5

9#���� � ������ (B3) 
	��	� v1y(0, t) �= 0, t ∈ [0, T ]. B��� � ���� 42�5 ������ ��

r(t)v1y(0, t) = −r2(t)vy(0, t) + µ3(t)
(

1
h1(t)

− 1
h2(t)

)
, t ∈ [0, T ]. 43/5

1�$��*$ (ai(t), hi(t), vi(y, t)), i = 1, 2 � ����0"�$ ������ 465)4�85' 
� ��" qi(t), i =
1, 2 ���� �*�� ������
�

qi(t)µ2(t) =
µ′

4(t)
hi(t)

−ri(t)(ωi(1, t)−ωi(0, t))− 1
hi(t)

1∫
0

b(yhi(t), t)ωi(y, t)dy−
1∫

0

(c(yhi(t), t)×

×vi(y, t) + f(yhi(t), t))dy, i = 1, 2.
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.���"�
 ��' �� ��� �� �� ����"��"

µ2(t)q(t) = µ′
4(t)

(
1

h1(t)
− 1

h2(t)

)
− r(t)(ω1(1, t) − ω1(0, t)) − r2(t)(ω(1, t) − ω(0, t)) −

−
(

1
h1(t)

− 1
h2(t)

) 1∫
0

b(yh1(t), t)ω1(y, t)dy − 1
h2(t)

1∫
0

(
(b(yh1(t), t) −

−b(yh2(t), t))ω1(y, t) + b(yh2(t), t)ω(y, t)
)

dy −
1∫

0

((c(yh1(t), t) −

−c(yh2(t), t))v1(y, t) + c(yh2(t), t)v(y, t))dy +

1∫
0

(f(yh1(t), t) −

−f(yh2(t), t))dy, t ∈ [0, T ]. 4325

. ��� �� hi(t), i = 1, 2 �	�	� qi(t), i = 1, 2. ��" �*�#� �$�� �
�&���" ������	��"�
42�5

hi(t) = hi(0) exp
( t∫

0

qi(τ)dτ

)
, i = 1, 2.

9#���� � ������ (B2) 
	��	� h1(0) = h2(0) = h0� B���' � $�� �
����� ������
*

ex − ey = (x − y)

1∫
0

ey+τ(x−y)dτ,

�
� ��&��

h1(t) − h2(t) = h0

1∫
0

q(τ)dτ

1∫
0

exp
( t∫

0

(σq(τ) + q2(τ))dτ

)
dσ. 4335

1
hk

1(t)
− 1

hk
2(t)

= − k

hk
0

1∫
0

q(τ)dτ

1∫
0

exp
(
−k

t∫
0

(σq(τ) + q2(τ))dτ

)
dσ, k = 1, 2. 43�5

+� ��<	��" (B1) 
	��	� ���	��	��& ���� �*���
* �	�	
���	��"

f(yh1(t), t) − f(yh2(t), t) = y(h1(t) − h2(t))

1∫
0

fx(y(h2(t) + σ(h1(t) − h2(t))), t)dσ. 4365

C����#���� �	�	
���	��" � $����
*�" ��" %��$��( b(y, t) 
� c(y, t).



;9 &���� '()&*+�

+���
�� �
 42�5' 4275' 4335)4365 � 43/5' 4325' �
� ��&�� � �
	�� �������� � ��
	#)
���*� � ����"�* .��*
	��� ���#�#� ���� �
������ �	����� � r(t), q(t) � "���� ' <�
���
* ��
	#����� ����� ���
�� 9 &� ���
� ����0"�$� 
�$ � � �
	� ��	�!�&��

r(t) ≡ 0, q(t) ≡ 0, t ∈ [0, T ],

��� �#���� � 42�5' 42/5

a1(t) ≡ a2(t), h1(t) ≡ h2(t), t ∈ [0, T ].

. $�� �
����� �	 � ������ 4225' 4235' ������ ��

v1(y, t) ≡ v2(y, t), (y, t) ∈ QT ,

<� ( ���	�
�& ���	�	��" 
	��	� �

�� ��C4�9� �� 1�	��	�� ������ ��" �����������#� ����"��" � � ���!	��"�
GG .���� H*���� ��)
�� I	�� �	��� ��
�� /88��� . �� 63�� I� /3�)/���

/� �1�95/1 K��� 1�	��	�� ������ � ���*��� �	!	� ��" ����"��" 
	������������
�
GG �$�� ��
� !����� /882�� ��' J��� I� �8�)��8�

2� L�4H��1 K� K� 1���
��" ������ ��" �K��!���<	#��" L�� �
 �	�$�#� ����)
�	� " GG +� �	�	� 	 �	
���� %��$�� ����� � �����	� "� ��
� % ��� ?���� )
� ��$' ��7��� I� 66)���

3� MC4�>N��1 �� 1� ����( ����
��( �����	 ��" �K��!���<	#��" # �	���� �	)
�$�#� �����	� " �
���#� ���"�$� GG M��	�
 " C? ���IIA� I	� " % ��)��
��
��7��� J2�� I� /�)/��

�� �+%$OP� �� :N �OPNQ�RSTQ�UN VWUXYPZ [UW T UNP)V\T]P ^QP[TN VWUXYPZ GG _� `Na�
`YY)EU]PO EWUXYPZ]�� /88��� bUY� �' J6�� E� �)/��

6� ��4QH�9>3�� R�S�A �/C/99�3/1 ��S�A 	��CD=�1� ���� H �	(�K	  $��� � )
�	(�K	 �����	� " ������� �	�$�#� 
 ���� ��' ��6��

�� �T)O'(+T &� `NaPW]P VWUXYPZ] [UW PcdTQ�UN] U[ VTWTXUY�S QeVP�� fa�a; bghf EdXY�)
]\PW]' /882�
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